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BGL | N K4 OUT IN |GROSS| HDCP | NET | crosshf: % BT | BInFE K4 OUT IN |GROSS| HDCP | NET |crosshsif: e
1{lH & 42 44 86/ 16.8 |69.2 19| B W 515K B— 44 42 86/ 10.8 | 75.2 19
2FEIE B 40 38 78| 8.4 |69.6 2 | EE 52| E —E 46 46 92/ 16.8 | 75.2 46
SIS BE 51 42 93]22.8 [70.2 51|31 53| K% +— 45 46 91| 15.6 | 75.4 38
4| FRE B4 42 51 93] 22.8 | 70.2 51/4hF 54/ BEE 45 46 91| 15.6 | 75.4 38
575 — 1 42 37 79| 8.4 |70.6 3|57 55| % BUE 44 53 97/ 21.6 | 75.4 72
6|/NEFIE T 48 49 97| 26.4 | 70.6 72|64\1 56| T.jE il 43 41 84| 8.4 |75.6 12
TR LR 44 46 90| 19.2 | 70.8 32|71 BT\ #H— 45 45 90| 14.4 | 75.6 32
8| M= 40 43 83/ 12.0 | 71.0 9|8fi1 58| % L= 49 47 96/20.4 | 75.6 69
9B — & 42 47 89/ 18.0 | 71.0 29|9h7 594 )1 2= 38 45 83| 7.2 |75.8 9
10| $A B 43 44 87/ 15.6 | 71.4 25| 10437 60 |F% [ELASf 42 53 95/19.2 | 75.8 63| T E
118K =i 44 43 87/ 15.6 | 71.4 25 61| ik & 41 41 82| 6.0 176.0 5
12| RALR & 41 45 86/14.4 | 71.6 19 62|/ B F B 44 43 87/10.8 | 76.2 25
13| Ft-jm HRER 44 48 92/20.4 | 71.6 46 63| FA T EET 42 51 93] 16.8 | 76.2 51
14| L% £ 46 46 92(20.4 | 71.6 46 64 |FopE BUE 50 49 99]22.8 | 76.2 84
158K — 39 40 79| 7.2 [71.8 3 65| T1E & 44 48 92| 15.6 | 76.4 46
167k & 47 50 97(25.2 | 71.8 72 66|41 DT 51 47 98] 21.6 | 76.4 79
17/%oc 5L 42 42 84/12.0 |72.0 12 67| H Tk 47 51 98/ 21.6 | 76.4 79
18| 2% 40 42 82| 9.6 |72.4 5 68| F5E 46 45 91| 14.4 | 76.6 38
19| &5 i 49 44 93/20.4 | 72.6 51 69| X )I| FofE 46 45 91| 14.4 | 76.6 38
20| i tjm. RIER 44 42 86| 13.2 | 72.8 19|78 E 7017511 HiE] 44 47 91| 14.4 |76.6 38| H
21 | IR FniT 42 44 86| 13.2 | 72.8 19 T1HA i 53 44 97/20.4 |76.6 72
22 e L — 43 42 85(12.0 | 73.0 17 2|58 B 46 50 96/ 19.2 | 76.8 69
23 | FRIR 44 41 85| 12.0 [ 73.0 17 SRS 46 49 95/ 18.0 | 77.0 63
24| i tj|, —3¢ 45 46 91]18.0 [ 73.0 38 T4|FTEE FEEL 47 48 95/18.0 | 77.0 63
25| it 5 48 49 97/24.0 | 73.0 72 75 46)1 JRh=E 47 48 95/ 18.0 | 77.0 63
26| it BE= 44 40 84| 10.8 [ 73.2 12 76| R H JE— 47 48 95/ 18.0 | 77.0 63
27 AR & 42 42 84/ 10.8 |73.2 12 TT\EE BT 48 53] 101]24.0 | 77.0 93
28 ML AE—. 42 48 90| 16.8 | 73.2 32 78|41 il 49 58/ 107/30.0 | 77.0 113
29 Ki R R 40 43 83| 9.6 |73.4 9 79| fhék 2 50 44 94/ 16.8 | 77.2 58
30 Nk BH 41 48 89| 15.6 | 73.4 20 | TE 80|44 K I 48 51 99]21.6 | 77.4 84| T E
31|58 = 45 44 89| 15.6 | 73.4 29 SENGNETS 49 50 99/ 21.6 | 77.4 84
32| H T\ 37 45 82| 8.4 |73.6 5 82 7%k Rk 48 50 98] 20.4 | 77.6 79
33| H 3 44 50 94/20.4 | 73.6 58 83 A FnBH 48 50 98/20.4 | 77.6 79
34| =3 PEd 49 44 93] 19.2 [73.8 51 84|EiA % 44 54 98/20.4 | 77.6 79
35| K #H1 44 55 99/ 25.2 |73.8 84 85 |8 A s 48 49 97/19.2 |77.8 72
36| ¥ Jo 45 41 86| 12.0 | 74.0 19 86 | HLIR fifi 46 50 96/ 18.0 |78.0 69
37 hli— 44 48 92/18.0 | 74.0 46 87| H AR 50 52| 102/24.0 | 78.0 95
38 EAR =K 47 44 91(16.8 | 74.2 38 88| IAAR ARiH 49 46 95 16.8 | 78.2 63
39| EA H 44 40 84| 9.6 |74.4 12 89|+ & 57 56| 113]34.8 |78.2 123
40| ik 75 44 46 90| 15.6 | 74.4 32| HEE 90| B R Je— 38 44 82| 3.6 |78.4 57 E
41 & R 44 46 90| 15.6 | 74.4 32 91 |k 48 46 94| 15.6 |78.4 58
42 ek BURn 50 52| 102|27.6 |74.4 95 92 |frEs . 53 53| 106|27.6 | 78.4 107
43 |ERE HER 51 51| 102/27.6 | 74.4 95 934+ 1E 46 53 99/20.4 | 78.6 84
44|58 FEIE 38 39 77 2.4 [74.6 1 94 |REH HE—ERB 49 50 99| 20.4 | 78.6 84
45|F%FE EIG 42 52 94| 19.2 | 74.8 58 95 & & 47 57| 104/ 25.2 | 78.8 101
46 1L EH] 45 49 94(19.2 | 74.8 58 96 |[FKE TRk 49 55| 104|25.2 | 78.8 101
47/ B H A 51 49|  100|25.2 | 74.8 91 97 [Aifily 1E— 47 44 91/12.0 179.0 38
48 |KEA 18 5 42 45 87/12.0 | 75.0 25 98|"E R ¥k 50 53| 103/24.0 | 79.0 99
49| #FF FH— 46 47 93/ 18.0 | 75.0 51 99 1k Kl 41 49 90/ 10.8 |79.2 32
50| KH: k—ER 41 52 93/ 18.0 | 75.0 51 | & E 100| F -+, ik 47 55| 102/22.8 | 79.2 95 | FEE
1/ 2 AT LR ZEER
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BAL | BInE K4 ouT IN |GROSS| HDCP | NET | crosshi fif%E EAL | BInE K4 ouT IN |GROSS| HDCP | NET |crosshi e
IR 52 49| 101/21.6 |79.4 93
102 )\ 8 52 52 55| 107/27.6 |79.4 113
103 &1 18 (M) 52 48|  100]20.4 |79.6 91
104 | Br[58 Fnige 51 55/  106]26.4 | 79.6 107
105 gk 72 46 53 99| 19.2 | 79.8 84
106 H A f&— 45 52 97| 16.8 | 80.2 72
107 EAF SN 58 51| 109]28.8 |80.2 116
108|E1 5 A — 55 55| 110/28.8 [81.2 120
109 78 B 55 55| 110/28.8 |81.2 120
110| TRE W& 58 45| 103]21.6 |81.4 99 TRE
111 ek BsE 54 55| 109|27.6 |81.4 116
1124 [F= 52 57| 109|27.6 |81.4 116
113 |5 = 48 58] 106/24.0 [82.0 107
14| HFAR IER 54 52| 106]24.0 |82.0 107
115 #=/E Schp 58 54 112]30.0 [82.0 122
116 | A % 50 55| 105|22.8 |82.2 104
11722 H St 51 54| 105/ 22.8 |82.2 104
118422 A Fiews 49 55| 104|21.6 |82.4 101
119| Tk th— 55 54| 109]26.4 | 82.6 116
120 | S 18 58 55| 113]30.0 |83.0 123|7E
121 |5 (B4 47 59| 106]22.8 |83.2 107
122 |57k & 52 54| 106]22.8 |83.2 107
123 -9 JCF-F 47 58/ 105|21.6 |83.4 104
124 fEfg —ik 56 59| 115/31.2 [83.8 125
125 ik 5% 51 56/ 107|21.6 |85.4 113
126|1&/HE Fnkk 60 67| 127/36.0 [91.0 126
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